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CHo| H|E (Word Embedding)

(1) TF-IDF
(2) TF-IDSF
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TF-IDF

N
d fx)

tf, , =frequency of xiny

w, ,=tf,  xlog (

df =number of documents containing x
Term x within documenty N = total number of documents
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TF-IDSF
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Idsf 37t
wy v =tfy v Xlog (=) :> tt < log
S df (df |v)
th,y = frequency of xiny V = Virtual document size
o dy, = number of documents containing x
Term x within document y N = total number of documents Tern x within virtual document
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= (Noise) M2

(1) Word2vec
(2) EZ32}(Tokenization)
(3) EZ2 FAIEE O| 8% &E N
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word2vec

Input layer
tHO]
_ Projection layer
Output layer
Q1| 2 of .
— ;D CHst
2=
st}

Input layer

Projection layer

o ||

Slof| Tyt

Skip-gram

MOH2
= 3=

Output layer

ShC

—

10 /19



E 2 3}(Tokenization)

E™ W42 X2 Z word2vecS 0|23
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=2 H 2 (Clustering)
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